
 

 Erstellt Geändert Geprüft Entwicklung Geprüft Verkauf Freigabe 
Datum/Name 2016-01-15 pk     

 

Ernst Fehling GmbH & Co. · Mendener Strasse 1 · D-58739 Wickede (Ruhr)
Fon +49 (0) 2377 2033 · Fax 1635 · Email: info@fehling.de · Internet: http://www.fehling.de 

Seite 1/1 N:\AV\SA7\7505_SA_E.doc Revision: 

Parts list and mounting instruction 
 
 
 
Best No.: 7505 YA XV 535 Article: Luggage Carrier for Topcase 
 
 
 
1 Luggage Carrier 
1 x Parts list and mounting instruction 
1 x Label Max. load 5 kg 
 

Mounting parts front: 
2 x Hexagon Screw     DIN 933  M 8 x 40 mm 
2 x Washer      DIN 125  M 8 
2 x Lock washer     DIN 6797  M 8 
2 x Distance tube        18 x 4 x 20 mm 
 
Mounting parts (below the seat): 
2 x Hexagon Screw     DIN 933  M 8 x 35 mm 
2 x Washer      DIN 125  M 8 
2 x Lock washer     DIN 6797  M 8 
6 x Distance washer     DIN 7349  M 8 

 
 
 

 
Picture 7505 

 
 
 


